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@ 50mm ¢ 100mm

84

)1

250

40

01

147




2

@ 50mm ¢ 100mm

85

)1

250

150

148




2

@ 50mm ¢ 100mm

86

(

) 60 80kg

<

>

(
60 80kg

61
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2 @ 50mm ¢ 100mm

87

0.5 0.6t

,2  4KL

(

)L ]
0.5 0.6t

23
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2

@ 50mm ¢ 100mm

88

(

) 40 60kg

[ 1
40 60kg
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2 @ 50mm ¢ 100mm

89

0.13m3(

0.10)

1
,2 AKL
23
C I 2 ]
0.13m3[  0.10m3]
1.78
1

152




2 @ 50mm ¢ 100mm

90
2t

1
,2 4KL
21
[ 1
2t
1.29
( 1 )
2 3t ()
1.29
1
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2

@ 50mm ¢ 100mm

91

25mm

10

07

12
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2

@ 50mm ¢ 100mm

92

25mm

02

02
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2

@ 50mm ¢ 100mm

93

25mm

02

04
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2

@ 50mm ¢ 100mm

94

25mm

01

01
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2

@ 50mm ¢ 100mm

95

PP

25mm

06

04
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2

@ 50mm ¢ 100mm

96

20mm

10

07

12
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2

@ 50mm ¢ 100mm

97

20mm

02

02
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2

@ 50mm ¢ 100mm

98

20mm

02

04
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2

@ 50mm ¢ 100mm

99

20mm

01

01
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2

@ 50mm ¢ 100mm

100

PP

20mm

05

02
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2

@ 50mm ¢ 100mm

101

20mm

96

40
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2

@ 50mm ¢ 100mm

102

20mm

98

40
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2

@ 50mm ¢ 100mm

103

20mm

97

40
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2

@ 50mm ¢ 100mm

104

)

20mm

003

003
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2 @ 50mm ¢ 100mm

105
( 1.8 )1 0.1 100 m2

0.78

40 Omm
12;7 m3

« )
60 80kg
86

0.45
1
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2

@ 50mm ¢ 100mm

106

) 3

500

200

169




2

@ 50mm ¢ 100mm

107

) 3

500

200
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2

@ 50mm ¢ 100mm

108

) 3

500

40

02

171




2 @ 50mm ¢ 100mm

109
0.08n3(  0.06)
1
,2 AKL
17
C I 2 ]
0.08m3[  0.06m3]
1.78
1

172




2 @ 50mm ¢ 100mm

110
m3
)
25kg/
0.366
200 25kg/
4.4
74

173




2 @ 50mm ¢ 100mm

111
« ) 45KVA

,2  4KL

41

(
45KVA
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2

@ 50mm ¢ 100mm

112

1,250

20
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2

@ 50mm ¢ 100mm

15cm

()

Q)

15.42

20cm

@ 56¢cm

10.49

57.13

19.60

10.55

27.45

45cm(18

)

23.29
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2 @ 50mm ¢ 100mm

15cm

() Q)

[J1 [32]1 = 1 15cn

o o bl
I
=

[J35

177




2

HP P E ¢ 100mmECKEHRRT HEFES

AT U THE0 70m NO, 7
g H R
T £ _# 2 H % & BHR E _Z
HH
BEER DERE BEER DERE HPER
EFRZEE ¢ 100 x 5,000 X 8 5.000 5 + 3 25000 + 11332 + 1200 = 37.532
EFfiZF—X ¢ 100 % ¢ 75 & 1 0.140 1 X 0.140 = 0.140
EFfi%ZF—X ¢ 100 X ¢ 50 & 1 0.140 1 X 0.140 = 0.140
EFEZLSa—4— ¢ 100x ¢ 75 & 1] 0.420 1 X 0420 = 0420
EFf 2 E ¢ 100 x 45° & 2| 0.380 2 X 0.380 = 0.760
EFF 2 E ¢ 100 x 45° & 2| 0.490 2 X 0.490 = 0.980
GF-RFF SR 5L
PEROMHHNTFE $100% ¢ 75 & 0.790 1 X 0.790 = 0790
EFAZYIM -5 ¢ 100 = 1] 0818 1 x 0818 = 0818
BEEILER = 41.580
A-7TR Bl R EER
BEISBERER)—JHE ¢ 100 m 54.9 41580 x (60 X « + 01) ~ 500 = 54886
100m%Y
RBHER)-7AT-T m 25.4 41580 x 612 . 100 = 25447
ERER TenF TFE
BEHRT- HPPE ¢ 100 m 40.0 41580 - 0818 - 0.790 = 39972
TILS TIERE YR TFEE
BRI W=150 m 40.0 41580 - 0818 - 0790 = 39972
FORKFE T
T FAS%E H150 & 1 1 = 1
MAf15
HOF ALY UK v SHEH H100 & 1 1 = 1
MAf15
HOF ALY VR IR L TEE H300 @ & 1 1 = 1
MAf15

TRV VR IR EhR H40 & 1 1 = 1




2

HP P E ¢ 100mmickERRT HEHES

ek St LY :H=0.70m NO, 2
g H R
T £ _# 2 H % & BHR E _Z
FHE
BEELER TeF
FYIFLVEMER T (Rh7E) ¢ 100 m 40.8 41580 - 0818 = 40.762
AZEE WRHE AFZHE Loa1—Y— AZE0H#
RYIFLOEMFI (&) | $ 10001 OMF) o 16 8 + 4 + 2 + 1 + 1 = 16
EFYfyh EFF—X
FYVIFLUEMF T (BE) | ¢ 10020 F) | @ifr 2 + + 2 = 2
DERESY
FYIFLUE YT $100 ] 8 8 = 8
TUHEET ¢ 100 H® 1
FORFE
TUHFABEREMGT H150 BT 1 1 = 1
oA AR1E
LY UR IR T SHEH H100 & 1 1 = 1
oA AR1E
LY UR IR T L TEE H300 @ & 1 1 = 9
toIs#A AR1E
LY UR IR T [ERR H40 & 1 1 = 1
AHRBHER—IHET ¢ 100 m 416 41.580 = 41580
EHRT-7T HPPE ¢ 100 m 40.0
TILZ
EHRY—LT W=150 m 40.0
(G|
+T® m 374 325 + 49 = 374
+T® m 4.2 42 = 42
+T® m 8.0 40 + 40 = 80
(B EEE]
¢ 100
BAKHEBRT BEER Bt m 41.6 41.580 = 41580




[HPPE® 100 RZEE] UYIERE
g B i % SRR AR R - BN STk RO = 0.45m LU 0. 30m
Z
78 [ it ¥ ) Wy
Fe R (B OS[HFE OBR B Z[HBES OBR R E[FS OB (R E|EFS OBR S
1 2 3 b33
) I I I 1 ) — | 0.510| 2 - 2.200( 3 - 1. 000 3.710 1. 290 3
0.510 2.200 1.000 1.290
%
) } | 6 ) — | 2.150| 4 - 1. 700 3. 850 1. 150 2
2.150  1.700 1.150
7 5 8 7%
) I I mi 7 ) — | 1.330| 5 - 1.360] 8 - 1. 082 3.772 1.228 3
1.330  1.360 1.082 1.228
N z [HPPE ¢ 100 F2HEE] L = 5,000 3 VN 11.332| 3.668 8

LERKELREES EFA=ZREHH

7



#=3

T I H B £ H %
No. 1 NO. 1 IO NO. 2 TT@ NO. 3 TIT@®
37.4 SRR L 4.2 SER L 8.0 “ER L
49. 60m TIEE
Ed [ i #® 37.4 m 4.2 8.0 & F BER=
AsEREERR (
BEUMT t=15cmAF m
AsERZERR (
SR E LA |t=10omLL T m2|
BHO. 28m3 (
EIRIEAI m3| 0.42 15. 71 0.29 1.22 0.29 2.32 19. 25 20
BHO. 28m3 (
BIRIBER AR FBAER m3)  0.19 7.1 0.19 0. 80 0.19 1.52 9.43 10
BHO. 28m3 (
BIRIBER BAHEE F4EL m3]  0.22 8.23 0.09 0.38 0.09 0.72 9.33 10
BAEYHARARC-30 :
TRERET t=15cm m2
B4R A RN-30 (
LRERRAET t=10cm m2
BATHEAs (13) (
RET (R#EIH) [t=5cm m2|
BHO. 28m3-4tDT (
FEETasn T/ m3| 0.18 6.73 0.19 0. 80 0.19 1.52 9.05 10
BHO. 28m3-4tDT (
FELH0H TAI7bEE m3
(
ZAE FAITW bR t

EBRKEREES XA =REHH




T I #

s = 1L Td L= 374 m

el

WG = FHEEREAs ¢ 100 15800, 7m

2 HE LR = 0130 X 0130 X =z / 4 = 0013 m3/m

BEHEE = X X z J 4 = m3/m

I

N

No, 1

im0

+ 7 H

A

%

b

AILECIr T
AsEFHER t=15cmIL T

BN B R A
AsEFHEK t=10cmId T

mZ2

ZEEL I BHO.28m3
1.00 X 0.60 X 0.70 -

m3

0.42

EEHI BT BHO.28m3
BA+iFIE AR 1.00 X 0.60 X 0.33 — 0.013

m3

0.19

EEHIET BHO.28m3
R+ AL 1.00 X 0.60 X 0.37

m3

0.22

T SR T (A A RC-30)
t=10cm

mZ2

BB T (FEAEHL TR RM-30)
t=12cm

mZ2

T (AR EAs(13)

t=3cm

mZ2

FEAE A
BHO.28m3-DT4t +# 0.42 - 0.22 / 0.90

m3

0.18

AT
BHO0.28m3-DT4t Asi¥#

m3

AR
TRT 7Rk

LEERKELEES EEEA=REHRT



T I #

B 2 % + T2 L= 42 m

el

WG = FHEEREAs ¢ 100 15800, 7m

2 HE LR 0.130 X 0130 X  / 4 = 0.013 m3/m

BEHEE = X X z J 4 = m3/m

O

N

No,2

im0

+ 7 H

A

4

b

AL LTI
ASBHEEIR t=15cm L

BN B R A
AsBHEEIR t=10cmlL

mZ2

ZEEL I BHO.28m3
1.00 X 0.60 X 0.48 -

m3

0.29

EEHI BT BHO.28m3
BA+iFIE AR 1.00 X 0.60 X 0.33 — 0.013

m3

0.19

EEHIET BHO.28m3
R+ AL 1.00 X 0.60 X 0.15

m3

0.09

T SR T (A A RC-30)
t=10cm

mZ2

BB T (FEAEHL TR RM-30)
t=12cm

mZ2

T (AR EAs(13)

t=3cm

mZ2

FEAE A
BHO.28m3-DT4t +# 0.29 - 0.09  0.90

m3

0.19

AT
BHO0.28m3-DT4t Asi¥#

m3

RAE
TAZ bR

LEERKELEES EEEA=REHRT



T I #

B 2 % +T@ L= 80 m

el

WG = FHEEREAs ¢ 100 15800, 7m

2 HE LR 0.130 X 0130 X  / 4 = 0.013 m3/m

BEHEE = X X z J 4 = m3/m

O

N

No, 3

im0

+ 7 H

A

4

b

AL LTI
ASBHEEIR t=15cm L

BN B R A
AsBHEEIR t=10cmlL

mZ2

ZEEL I BHO.28m3
1.00 X 0.60 X 0.48 -

m3

0.29

EEHI BT BHO.28m3
BA+iFIE AR 1.00 X 0.60 X 0.33 — 0.013

m3

0.19

EEHIET BHO.28m3
R+ AL 1.00 X 0.60 X 0.15

m3

0.09

T SR T (A A RC-30)
t=10cm

mZ2

BB T (FEAEHL TR RM-30)
t=12cm

mZ2

T (AR EAs(13)

t=3cm

mZ2

FEAE A
BHO.28m3-DT4t +# 0.29 - 0.09  0.90

m3

0.19

AT
BHO0.28m3-DT4t Asi¥#

m3

RAE
TAZ bR

LEERKELEES EEEA=REHRT



IZRE PR ((Bl/KE ¢ 100 WEETDA)
TSR IR TaRM EH)
ST e L=  26.200 L= 26.200
H F AR -~ B (26. 200) (26. 200)
77X NAE
RN ZF L ¢ 100 m 26. 2 26. 2
77 FAER Y = F L E-HPPER
Bif A AT ¢ 100 . 2 2
XFie A WA K- R, 7o)
75 X RAMER Y = F LA 1001 SUS304 R 14 14




WEOREAR R T (Fl/K% ¢ 100 WEETDA)

T i gy il -1 =Y BT /NEE

77 RAERY =F L

RY =F L ERR T $ 100 L = 26.200 m 26. 20
77 I RANER Y =F L L& -HPPEF

Uit AAN T L ¢ 100 N = 2 & 2
T T2 RAERY = F L ¢ 100/

T Re RRE L WA kB, Ton—sma | N = 14 (BEEHE : 4. 18kg/f&AT) & P 14

KA ER T 0.3Mpa X 1FFfEIfREF | N = 1 [A] 1




2

HPPE ¢ 7SmmiEcKERRT HEFHES

FrEEH LY H=070m~1.20m NO. 7
g H R
T £ _# 2 H % & BHR E _Z
HH
BEER DERE BEER DERE UERST
EFAZEE ¢ 75 x 5,000 X 10/ 5.000 6 + 4 30000 + 18333 - 1352 = 46.981
EFfiZF—X $75% ¢75 & 2/ 0.100 2 X 0.100 = 0.200
EFfi % F—X(F3%) P75x ¢ 75 e (1)| 0.250 1 X 0.250 = 0250
EFfi % F—X(F %) @ 75% ¢ 100 & (1), 0310 1 X 0310 = 0310
EFfl 3280 & ¢ 75%45° & 2| 0.380 2 x 0380 = 0.760
EFfl 3280 & $75%22° 1/2 & 2| 0.280 2 x 0280 = 0.560
EFfl 3280 & ¢75x11° 1/4 & 1/ 0.260 1 X 0.260 = 0.260
EF T ZEE $75%22° 1/2 & 2| 0.380 2 x 0380 = 0.760
EFF 2 E GT5x11° 1/4 & 1/ 0.360 1 X 0.360 = 0.360
EFF ZY7b -t 85 975 = 3 0738 3 X 0738 = 2214
HPPEZS S ¢ 75 & 1] 0.260 1 X 0.260 = 0.260
EFf¥vy” 675 & 1
PCTafTk 675 & 1) 0.046 1 X 0.046 = 0.046
$75% ¢75 DCIPF
T KTFE YIN -V J5UVE K 1, 0.309 1 X 0.309 = 0309 susa7 1@
BEILER = 53.270
R-7T R R EER
SBEIRBHER)—THE @75 m 70.3 53270 X (6.0 1 + o1 ~ 50 = 70316
100m4Y
RBHER)-7AT-T m 27.2 53270 x  51.0 100 = 27.168
ERER TeF TFE
EHRT-7 HPPE ¢ 75 m 50.7 53270 - 2214 0.309 = 50.747
TILE TTIER TeF TFE
BRI W=150 m 50.5 53.004 - 2214 0.309 = 50.481
= [avIEr e H#
tUHAH%E H150 e 3 1 + 1 1 = 3
MAf15
HEIHFALY UK YIR LERBE H150 & 3 1 + 1 1 = 3
MAf15
HIHFALY UK YIR EREE H300 & 3 1 + 1 1 = 3
MAf15
HEIHFALY UK YIR [ERR H40 & 3 1 + 1 1 = 3




2

HPPE ¢ 75mmEkKEMRT HESFHES
EFE- O ¢ 75mm HPPE L=53.270m(53.004m)
T TS0, 70m ~ 1.20m NO. 2
g H R
- 2 H % & BHR E _Z
BEELER TeF
FYIFLVEMER T (Rh7E) ¢ 75 m 51.1 53270 - 2214 = 51.056
AREE WE2HE RF2HE R2EOF  Fou7
FYIFLUE#RF I (Bh7E) ¢75(10#F) | @A 27 0+ 10 + 3 + 3 + 1 = 27
EFYrob EFF—X
FYIFLUE#RF I (Fh7E) ¢75(2O#F) | @A 2 + + 2 = 2
THK
ISUTHFT ¢75 7.5k m] 1 1 = 9
PCaf b
RYUTFLUBAN=ALBET ¢ 75 m] 1 1
¢75 PCUafvk
ANZHILHFT ($5515%138L) [m] 1 1
DERELY
FYIFLUE YT 75 [m] 10 10 = 10
HUHHET 675 X 3
FOKAE
HOFASEREAT H150 BT 3 T+ 1 = 3
oA AR1E
LY Uik AET T LERBE H150 & 3 1 + 1 1 = 3
oA AR1E
LY Uik AET T T&BEE H300 & 3 1 + 1 1 = 3
oA AR1E
LY Uik AR T [ERR H40 & 3 1 + 1 1 = 3
AHRBEHER—IHET ¢75 m 53.3 53.270 = 53270
ERART-7T HPPE ¢ 75 m 50.7
EHRV—T m 50.5
®75% ¢75 DCIPFR
THF KT YIN -V 750V R &R 1 SUSTT7HEA
(G|
HiEE
)} m 18.3 150 + 13 2.0 = 183
+T@ m 10.9 80 + 29 = 109
+T6 m 1.3 1.3 = 13
+T® m 5.7 5.7 = 51
+T® m 18.8 18.8 = 188
+T® m 22 22 = 22
(B EEE]
$75
BAKHEBRT BEER Bt m 53.3 53.270 = 53270




[HPPE® 75 RREE] ERE
AR B M EX SRR EHE T R NEVE STHE FEE = 0.35m ZE 0. 25m
P =
78 [ it 034 g) W
Fe R (B OS[HFE OBR B Z[HBES OBR R E[FS OB (R E|EFS OBR S
(] [ 13 18 7% 12034k
) .: : : : 11 ) —  2.110] 12 | — | 1.352] 13 | — | 0.900[ 18 | — | 0.474 4.836] 0.164| 4 K TE
2.110 1.352  0.900 0.474 0. 164 *
15 14 b33
) ! ! 15 | ) — | 3.122| 14 | — | 1.062 4.184] 0.816 2
3.122  1.062 0.816
16 17 7%
) : : } 16 | ) — | 3.620] 17 | — | 1.300 4.920] 0.080 2
3.620 1.300 0. 080
20 19 Eﬂ b33
) t t t 20 | ) — | 3.063[ 19 — | 1.000| 31 — | 0.330 4.393] 0.607 3
3.063 1.000 0.330 0. 607
& i [HPPE ¢ 75 FZE%] L = 5,000 4 A 18.333| 1.667 11

5B RIKERS

AEEA=ZREHBH

7



2

HPPE HEETRI NEBiHEs

%St £4%Y :H=0.70m NO., 1
g H R
T £ _# 2 H % & BHR E _Z
HH
YERAES
EFAZEE ¢ 75 % 5,000 x 5.000 1352 = 1.352
EFfi % F—X(F3%) d75% ¢ 75 e (1)| 0.250 1 X 0.250 = 0250
EFF ZY7b -t 85 975 = 1 0.738 1 x 0738 = 0.738
EFV/ryb ¢75 & 1
BEEILER = 2340
R-7T R R EER
SBEIRBHER)—THE @75 m 2.7 2040 x (60 x 1 + o1 ~ 50 = 2693
100m4Y
RBHER)-7AT-T m 1.0 2040 x 510 . 100 = 1.040
ERER TenF TFE
BEHRT- HPPE ¢ 75 m 1.3 2040 - 0738 - = 1302
TILE TTIER TeF TFE
BRI W=150 m 1.3 2040 - 0738 - = 1302
= H#
tUHAH%E H150 & 1 1 = 1
MAf15
HOF ALY VR IR LEREE H150 @ 1 1 = 1
MAf15
T F ALY VR YR ERE H300 & 1 1 = 1
MAf15
HIHFALY UK YIR [ERR H40 & 1 1 = 1




2

HPPE HEETRI NEBiHEs

ek St LY :H=0.70m NO, 2

H 4 "
5 _# BRI S % | EHE E_Z

REER  4AUF

FYIFLVEMER T (Rh7E) ¢ 75 m 1.6 2340 - 0738 = 1602
FZEE WRHE RFZHE RFZOHUHF
FYIFLUE#RF I (Bh7E) ¢75(10#F) | @A 1 + + + 1 = 1
EFYfyh EFF—X
FYIFLUE#RF I (Fh7E) ¢75(2O#F) | @A 1 1 + + = 1
DERESY
FYIFLVEYIMRT 75 [m] 1 1 = 1
HUHHET 675 X 1
FORFE
TUHFABEREMGT H150 BT 1 1 = 1
oA AR1E
LY UR IR T SHEH H100 & 1 1 = 1
oA AR1E
LY UR IR T L TEE H300 @ & 1 1 = 9
toIs#A AR1E
LY UR IR T [ERR H40 & 1 1 = 1
BEIR BN ERY—THET b5 m 20 2.040 = 2040
EHRT-7T HPPE ¢ 75 m 1.3

EHRV—T m 1.3




#=3

T I % B £ B X
No. 1 NO. 1 TI® NO. 2 +I@® NO. 3 +I® NO. 4 +I® NO. 5 TI® NO. 6 +TI®
18.3 SEER L 10.9 R L 1.3 SEER L 5.7 R L 18.8 SEER L 2.2 R L
55. 00m TTER
% i i % 18.3 m 10.9 m 1.3 5.7 m 18.8 m 2.2 m 8 & HERE
AsEiZEhi (
HEUMT t=15cmLLF m 2.00 11.40 2.00 4.40 15. 80 16
AsEi%hi (
SR E EEAIAA [t=10cmEL T m2 0.60 3.42 1.00 2.20 5.62 6
BHO. 28m3 (
BRI m3| 0.40 1.32 0.26 2.83 0. 56 0.73 0.50 2.85 0.38 1.14 1.54 3.39 24.26 20
BHO. 28m3 (
EERIER BAHREE AR m3]  0.17 3.1 0.17 1.85 0.17 0.22 0.17 0.97 0.17 3.20 0.58 1.28 10. 63 10
BHO. 28m3 (
ERIER BWAHHE FAL m3)  0.22 4.03 0.09 0.98 0.39 0.51 0.21 1.20 0.21 3.95 0.70 1.54 12. 21 10
BAEYHARERC-40 (
TEBET t=15cm m2) 1.00 2.20 2.20 2
BEYARARC-30
TEBET t=10cm m2) 0.60 3.42 3.42 3
BRI ARN-30 (
LERHERT t=10cm m2 1.00 2.20 2.20 2
B RERARN-30
LERHERT t=12cm m2 0.60 3.42 3.42 3
BAEEHEAs (20) (
RET (REIR) [t=5cm m2 1.00 2.20 2.20 2
BETHEAs (13)
KET (REIR) [t=3cm m2 0.60 3.42 3.42 3
BHO. 28m3-4tDT (
RELNS TR m3| 0.16 2.93 0.16 1.74 0.13 0.17 0.27 1.54 0.15 2.82 0.76 1.67 10. 87 10
BHO. 28m3-4tDT (
RELNS TAI7h bR m3 0.03 0.17 0.05 0.11 0.28 0.3
(
ZAE TAI7h bR t 0.07 0.40 0.12 0.26 0. 66 0.7

EBRKEREES XA =REHH




i 5 % N RE)

= 183

m

T I #

el

Wit # = FHEREREAs ¢ 75 £HEVO. 7m

R = 0090 X

0.090 X

T

= 0.006 m3/m

2R = X

TT

= m3/m

iOE R

N

No, 1

im0

+

7 H

= A

%

b

AILECIr T
AsEFHER t=15cmIL T

BN B R A
AsEFHEK t=10cmId T

mZ2

ZEEL I BHO.28m3

1.00

0.60

0.66

0.40

EEHI BT BHO.28m3
BN AN

1.00

0.60

0.29

— 0.006 m3

0.17

EEHIET BHO.28m3
B+l FEAE A

1.00

0.60

0.37

m3

0.22

T SR T (A A RC-30)
t=10cm

mZ2

BB T (FEAEHL TR RM-30)
t=12cm

mZ2

T (AR EAs(13)

t=3cm

mZ2

A
BHO.28m3-DT4t 1%

0.40

0.22

0.90

m3

0.16

AT
BHO0.28m3-DT4t Asi¥#

m3

RAH
TR77 /bR

LEERKELEES EEEA=REHRT



i 5 % L IT@

= 10.9

m

T I #

el

Wit # = FHEREREAs ¢ 75 £HEVO. 7m

R = 0090 X

0.090 X

T

= 0.006 m3/m

2R = X

TT

= m3/m

iOE R

N

No,2

im0

+

7 H

= A

%

b

AELECIr T
AsEHHER t=15cmId T

BN B R A
AsEFHEK t=10cmId T

mZ2

ZEEL I BHO.28m3

1.00

0.60

0.44

0.26

EEHI BT BHO.28m3
BN+ AR

1.00

0.60

0.29

— 0.006 m3

0.17

EEHIET BHO.28m3
B+l FEAE A

1.00

0.60
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